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DEFENCE AND STRATEGIC STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1.  Economic warfare implies 4. Who of the following was the First

Defence Minister of Independent
(A) Weakening the enemy by India ?

economic means
(A) V.K. Krishna Menon

(B) Attack on enemy’s resources
(B) K.C. Pant

(C) Blockade )
(C) Sardar Baldev Singh

(D) None of these (D) R. Venkatraman

2. Nationalism developed during the 5. Which of the following set of

late medieval period in Europe is activities encompass the total

known as process of drug trafficking ?

(A) Colonial Nationalism (A) Cultivation, manufacture and

(B) Politico-religious Nationalism sale of drugs.

(C) Vociferous Nationalism (B) P}lrcbas§, packing and
distribution of drugs.
(D) Anti-Colonial Nationalism (C) Manufacturing drugs only.
(D) Covert distribution and sale of
3.  Which of the following drugs.
establishments deal with defence
research ?

6. The concept of collective security
(A) Military College of Electronics implies
and Mechanical Engineering
(A) Machinery for joint action
(B) College of Defence

Management (B) Arrangement among Nation-

States
(C) Defence Research and

Development Organization (C) Principle of ‘one for all and all

for one’
(D) College of Materials

(D) Combined action against an
Management

adversary
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10.

START stands for

(A) Strategic Treaty And
Reduction Talk

(B) Strategic Arms Reduction

Treaties

(C) Science,
Redistributive Trade

Technology  and

(D) State Trade And Regional
Trade

Which one of the following has
described “Plan 1919” as one of the
most remarkable documents in the

history of war ?

(A) J.F.C. Fuller
(B) Liddell Hart
(C) Douglas Argill
(D) Marshall Foch

Which one of the following is not a

nation of Central Asian Republics ?
(A) Kazakhstan

(B) Ukraine

(C) Turkmenistan

(D) Uzbekistan

The concept of human security is

promoted by
(A) Canada
(B) Norway
(C) Japan

(D) All the above

11.

12.

13.

14.

In which year was the Defence
Research and Development

Organisation established ?

(A) 1960
(B) 1962
(C) 1958
(D) 1980

Mandala theory belongs to which of
the following thinkers ?

(A) Alfred Mahan
(B) Kautilya
(C) Shudraka

(D) Clausewitz

Who amongst the following is the
author of the book “The Imagined

Community” ?

(A) Herbert Spencer
(B) Anthony Smith
(C) Benedict Anderson
(D) Selig Harrison

Name the neighbouring country of
India  which

international border.

shares  longest

(A) Myanmar
(B) Pakistan
(C) China

(D) Bangladesh
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13.

14.
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(C) 1958
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15.

16.

Who
established the concept of structural

amongst the  following

violence ?

(A) Johan Galtung
(B) Ann Tickner
(C) A.G.Frank

(D) R.Murdoch

Choose the appropriate code of
Assertion and Reason :

Assertion (A) : China has concluded
“the first multilateral treaty
(1996) to build confidence in
the Asia-Pacific region” with

Kazakhstan,

Kyrgyzstan and Tajikistan.

Russia,

Reason (R) : China has concluded
this treaty to have access to
their energy supplies.

Codes :

(A) (A) and (R) are correct but (R)
is not the cause of (A).

(B) (A) is not correct but (R) is
correct.

(C©) (A) is correct but (R) is the
cause of (A).

D) (A) and (R) both are not
correct.

17.

18.

Choose the appropriate code of
Assertion and Reason :

Assertion  (A) Immediate

neighbours of Afghanistan are
Iran, Pakistan, Turkmenistan,
Uzbekistan and Tajikistan.

Reason (R) : In the year 2001, the
United Nations’ Security Council

created the International

Security Assistance Force.
Codes :
(A) (A)is false but (R) is true.

(B) (A) and (R) are true and they
are connected to each other.

(C) (A)is true but (R) is false.

(D) (A) is true and (R) does not
concern (A).

Choose the appropriate code of
Assertion and Reason :

Assertion (A)
from competition as the strong

Progress comes

and more advanced vanquish
the weak.

Reason (R) : Imperialism is natural
and because it allows superior
people to subdue the inferior
ones.

Codes :

(A) (A)is correct, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)is wrong, but (R) is correct.
(D) Both (A) and (R) are wrong.
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19.

20.

Choose the appropriate code of

Assertion and Reason as given

below :

Assertion (A) : Uptil the Cuban
Missile crisis, the U.S.A. had
overwhelming superiority over
the USSR in strategic weapons.

Reason (R) U.S.A. had more
advanced in the field of nuclear
technology than USSR.

Codes :

(A) Both (A) and (R) are true and
(R) is the explanation of (A).

(B) (A)is true, but (R) is false.

(C) (R) is true, but (A) is false and

(R) is incorrect explanation of
(A).

(D) Both (A) and (R) are false.

Choose the appropriate code of
Assertion and Reason :

Assertion (A) : Transfer of weapon
technology and nuclear device
is an important factor in Sino-
Pak nexus.

Reason (R) : China is providing
military assistance and nuclear
technology to Pakistan.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct explanation.

(B) Both (A) and (R) are true and
(R) is one of the explanations.

(C) (A)is true, but (R) is false.
(D) (R)istrue and (A) is false.

Paper-11

21.

22,

Choose the appropriate code of
Assertion and Reason :

Assertion (A) : India’s economic
prosperity may stabilize the
South Asian Region.

Reason (R) : India may provide
economic umbrella to South
Asia.

Codes :
(A) (R)is true, but (A) is false.
(B) (R)is false, but (A) is true.

(C) Both (A) and (R) are true and
(A) is the correct explanation
of (R).

(D) Both (A) and (R) are true, but

(R) is not the correct
explanation.
Choose the appropriate code of

Assertion and Reason as given below :

Assertion (A) : From 1953 to 1956 a
series of steps were taken by
the UN to curb the arms race.

Reason (R) : The efforts failed
because of the inhospitable
strategic environment of the
Cold War.

Codes :

(A) Both (A) and (R) are true and
(R) is explanation of (A).

(B) (A) is true, but (R) is false.

(C) (R) is true, but (A) is false and
(R) is incorrect explanation of
(A).

(D) Both (A) and (R) are false.
D-11-10
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23.

24.

Choose the appropriate code of

Assertion and Reason :

Assertion (A) : Role of Pakistan in
Chinese geo-strategy for a
trans-Asia axis to countervail
the West in emerging world
order is pertinent to Sino-Pak

ties.
Reason (R) China-Pakistan
strategic ~ relations  would

escalate in future despite US
interference in Pakistan.

Codes :
(A) Both (A) and (R) are correct
and (R) is the logical

explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the logical
explanation.

(C) (A) is logical but (R) is not
logical.

(D) (R) is logical and (A) is not
logical.

Choose the correct code of Assertion

and Reason :

Assertion (A) : ‘The tragedy of the
commons’ is when everyone
enjoys a resource but no one is
responsible for its upkeep.

Reason (R) : As the resource
diminishes, people rush to use
it more, causing the
devastation of the resource.

Codes :

(A) (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) (A) is true, but (R) is not the

explanation of (A).

(A) is true and (R) is the cause

of (A).

(D)

Paper-11
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25.

26.

27.

Choose the appropriate code of

Assertion and Reason :

Assertion (A) : Peace is a goal and
hence search of peace is
possible through the policies of
deterrence and arms reduction.

Reason (R) : The development and
utilization of military power in
pursuance of national security
objectives always threatens the
goal of peace.

Codes :

(A) Both (A) and (R) are true, but

(R) is not the explanation of

(A).

(A) is true, but (R) is false.

Both (A) and (R) are true and

(R) is the explanation of (A).

(A) is false, but (R) is true.

(B)
(©)

(D)

Since the end of WW-II, the large
number of civil and uncivil wars take
place in middle-east, the Americas,
Europe, and Asia. Make the
descending order of number of wars
take place in regions.

(A) Middle-east, Asia,
Americas, Europe
Asia, the Americas, Europe,
Middle-east

the

(B)

(C) Europe, Middle-east, the
Americas, Asia
(D) Asia, Middle-east, the

Americas, Europe

Find out the correct sequence of
systems in the world history.

(A) Nation-State, Mini Systems,
Kingdoms, World Empires
Kingdoms, Mini  Systems,
World Empires, Nation-States

(B)

(C) Mini Systems, World Empires,
Nation States, Kingdoms
(D) Mini Systems, Kingdoms,
World Empires, Nation-State
D-11-10
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25.

26.

27.

AR 3R T &1 UGS e TIH

Y

MTFET (A) ;o o1e ¥ 3R zafern
T <hl G YRE U IS & HeE
H Aft % weEm 9 gufad
T

Th (R) : T GRET o 329l
T § Afe wled & faem @R
I I o A& Hl TR | STeAdT

T

F:

(A)  (A) 3R (R) IH ¥ 8, R (R),

(A) & AT TR E |

(A) T &, W< (R) 3T E |

(A) 3R (R) 31 T &, =] (R),

(A) H AR |

(A) TR E, R (R) TAE |
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3¢ U

(A) TeI-gd, TS, SR, I
(B) T, SR, R, TeA-Ta
(C) 7, HeA-TH, SFHH, T
(D) uferET, HeA-ue, STHET, T

faver sfdera & =raensti # WE SR
AR

(A) T, oY M, A &
fovg-amrg

TS, AL

T, I &

TS, [T

(B)
(©)

(D)
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28.

29.

Arrange the EU members, according
to their economic power in
descending order :

(A) France, Italy, Germany, Spain
(B) Germany, France, Italy, Spain
(C) Spain, Italy, Germany, France

(D) France, Germany, Italy, Spain

Identify the following code with

correct chronological sequencing :

(A) Threshold Test Ban Treaty —
Strategic Arms Reduction Treaty —
Peaceful Nuclear Explosions
Treaty — Intermediate Range

Nuclear Forces Treaty

(B) Threshold Test Ban Treaty —
Peaceful Nuclear Explosions Treaty
— Intermediate Range Nuclear
Forces Treaty — Strategic Arms
Reduction Treaty

(C) Peaceful Nuclear Explosions Treaty
— Strategic Arms Reduction Treaty
— Threshold Test Ban Treaty —
Intermediate Range Nuclear

Forces Treaty

(D) Strategic Arms Reduction Treat
— Intermediate Range Nuclear
Forces Treaty — Peaceful

Nuclear Explosion Treaty —

Threshold Test Ban Treaty

30. Select the correct sequence of the

31.

32.

following persons of their seniority
in, appearance.
(A) Shivaji,
Kissinger, K. Subrahmanyam
(B) Clausewitz,
Kissinger, K. Subrahmanyam

Clausewitz, Henry

Shivaji, Henry
(C) Henry Kissinger, Clausewitz,
Shivaji, K. Subrahmanyam
(D) K.

Kissinger, Shivaji, Clausewitz

Subrahmanyam, Henry

Arrange the nuclear

strategies in order in which they

following

appeared. Choose the correct code
given below :

L Preventive Nuclear Strategy
II.  Pre-emptive Nuclear Strategy
III.  Strategy of Massive Retaliation
IV. Strategy of Flexible Response
Codes :

(A I L1II, 1V

(B) LILII, IV

(©) NILILIV,I

(D) ILIL LIV

Make the chronological order of

Arms Control Treaties from 1971-

1993 :

(A) Seabed Arms Control ABM
Treaty, SALT-II, START-IL

(B) START-II, SALT-II, Seabed
Arms Control, ABM Treaty

(C) ABM  Treaty, START-II,
SALT-II, Seabed Arms
Control

(D) SALT-II, Seabed Arms Control,
START-II, ABM Treaty



28. ¥ TI@ I AR MMgR W F

29.

TR 3TeRIET hH | Hafed Ty :
(A) Wi, sZeft, ST, T
(B) STEY, W, Zeet, T
(C) &, 3eelt, ST, i

(D) id, ST, 2etl, W

fr=ifha 1 W& GRS ST
TR :

(A) U9E G (IRTEIeE)  TRIETOT
foy ofy - Smte T ged
TRy — If~TgoT TR foeRies
IR — Tl & AR Jo
g

TS T (FPTRIe) TRieoT e Wiy
— Inf~Aqot YR faehieT |t
— eIl & AT o1 Tl —
TR I ged | |

st iR foremte = —
ST I Hed | — T g
(JvrRiee) wderor Ty @t -
e & AR FoT [l

(B)

(©)

e IR Hed | —
el & AT oot afF T —
oot Aty foremie afr —
TOTe HAT (SPEITS) TLHeToT e
gl |

(D)

D-11-10

13

30.

31.

32.

iR =Afeaal &l TheT W S

TR 1 HEl SFHH AT

(A) Torarst, FAaed, s R,
EPRERERE]

(B) wFArIracd, s, s fohfasR,
ERCRIERE]

(C) & forfEst, oitifaed, ferarst,
. RI-EH

(D) *. goEEH, T FRESR,

TTeAiTore TR STl ol 3ok S
% THT % A W AR Site | A
ST el ¥ Tl ST I T T

[ FRiges Aen St

II.  Yo-shiHeh ATIRIT TSI

I, SR wfcene st st

IV. ORI il s
!
(A)
(B)
©)
(D)

IL I, OI, IV
L 11, 11, IV
IIL I, IV, 1
IL IIL, I, IV

1971-1993 ® &t 72 I =01 |f=at
ST FIATShIH SHH FaTEU

(A) dHiae 3 Heet, T TH 9y,
U T I-11, TH A T AR -1
TE A T R &-11, v T U -1,
iag 3T Shalel, T s U |y

U S Uy 9, T 3 U SR A1,
TH U T 2-11, Wies Iy st

g U U I-11, Hide 3 e,
T A T HR A -1, TS o |y

(B)

(©)

(D)

Paper-11



33.

34.

Choose the correct sequence in the

process of confidence building

between two Nation-States :

(A) Minimum

Reciprocity;

political will;
Constraint

reduction; Obligation adherence.

(B) Minimum

Constraint reduction, Obligation

political will,

adherence, Reciprocity

(C) Constraint reduction, Obligation
adherence, Reciprocity,

Minimum political will

(D) Reciprocity, Minimum political
will, Obligation adherence,

Constraint reduction

Choose the correct sequence of steps

in the process of conflict resolution :

(A) Conflict

germination,

Conflict
Conflict

management, Conflict resolution

prevention,

(B) Conflict germination, Conflict
Conflict

management, Conflict resolution

prevention,

(C) Conflict

management,

Conflict
Conflict

resolution,

prevention, Conflict germination

(D) Conflict germination, Conflict
management, Conflict

prevention, Conflict resolution

35.

36.

Arrange the following books in

sequence in which they have

appeared :

L The Art of War

II.  The Conduct of War
III.  The Prince

IV. The making of India’s Foreign
Policy

Codes :

(A) IV, LTI II
B) LILIIL IV
(© LI, 1v

(D) ILILIL IV

Match the following treaties with
their respective geographic regions :

(a) SEATO (i) Middle East

(b) NATO (i) Europe &
America

(c) CENTO (ii1) Eastern
Europe &
former USSR

(d) Warsaw Pact (iv) South-east Asia
Codes :
@ b @© (@
@A) @ G @) @Gv)
B) (Gv) @) (1) @
© Gy @G Gv) @
D) Gv) () (@ (i)



33.

34.

T AL F G SAH-Tavery i
FA B UGHAT H TRl STHA 1 99T
HITSTT

[a¥a

NSEIIGES

(A) = EENIEH

o [ o
YR Rehdl, &l HlHl, <M<

9™ W gg T |

(B) AT TSI TeSTIIfeR, afger
HAT, FE MY W gg &,
TREIRERT |

(C) af<er =M, I F9H W g

TET, TRERERT, =TT ST

T |

(D) IR, TSI

=M
TN, e e | g8

TET, 29 TS |

Gy HTEE S UfHAT H OGO e

SR AT :

(A) FE9 AT, HEY 3[EE, 9@eEd
TEE, T R |

(B) WuY 3[9E, HEW [T, HEW

e, GEY R |

(C) Wuy RIeRoT, Woy Uemee, HEY

T, TEY 3] |

(D) ¥uY 3I|HF, TEY TeEA, HEW

TR, TS FRTeRToT |

35.

36.

Frifeha qETh 1 Wel HF H UEd
HITT | {5 T Fo T TAT FN

[ T 3% ar

II. T hHsH 3R

. 3=

IV. 3 RT3 ear ®RA giferdt
F:

(A) IV, LI 10

(B) LILIIL IV

(©) LILILIV

(D) ILIL LIV

foreifepet et ot 3ok it AT
&5 3 T e i
(a) T (i) AT
(TAZU3.3T)
(b) 7Tt
(T7.0.31.37.)
(c) 9t
GIER T

(ii) IR Td
S IEea)

(iii) gt W9 wd
e

(iv) Sreqor-gat
D)

(d) =TRET FHT

F:

@ () (© (@
(A) () (i) (i) (iv)
B) (iv) (i) (1) ()
© @) (i) Gv) ()
(D) (@v) () (@) (i)



37. Match the theories with their
respective propounders :

(a) Heart Land (1) S.B.John
Theory

(b) Organic Theory (ii) S.B. Cohen
of State

(c) Unified Field (ii1) A. Mackinder
Theory

(d) Theory of Geo-  (iv) Ratzel
strategic Regions
of the World

Codes :
(@ (b)) (© (@

A @) @G (@) @(Qv)

B) ay @) Gv) @

© @) @ G @)

D) (i) @v) @@ (@)

38. Match the concepts (Table I) with
their proper explanation (Table II) :

Table I Table 11
(a) Peace (1) Use of
Making mediation,
conciliation

and arbitration.

(b) Peace (i1) Use of military
Keeping personnel as
monitors.
(c) Peace (ii1) Rebuilding of
Building institutions and
infrastructure.
(d) Peace (iv) Legitimization
Promotion and liquidation
of issues.
Codes :

(@ (® (© (@
A) ) @O @) @Gv)
B) (i) aG) Gv) @
© O @ @) @Gv)
D) Gv) @) () @

39.

40.

Match the common name of missiles
(Table I) with their technical name

(Table II) :
Table — 1 Table — I1
(a) Prithvi (i) Short Range

Surface-to-
Surface Missile

(b) Agni (i1) Intermediate
Range Ballistic
Missile

(c) Trishul (iii) Short Range
Surface to Air
Missile

(d) Nag (iv) Anti-tank Missile

Codes :

@ ® (@© (@

A) 1 Gy (@) (@v)

B) () @) @ @v)

(©) @) @) @Gv) @)

D) Gv) (i) @) @

Match the following authors with
their books, given in Table I & 11 :

Table - I Table - I1
(a) Guilo Douhet (i) On War

(b) Clausewitz (i1) The Command
of the Air

(¢) JJ.Mearsheimer (iii) Nuclear War
and Nuclear
Peace

(d) Y. Harkabi (iv) Conventional
Deterrence

Codes :

@ ® (© (@
A (@) G @) (1)
B) () @ 3>Gv) (@)
© @ (Gv) (@) (D)
D) @) av) @@ @)



37.

38.

iR fasT=at st 3Tk Uidqueehl &

qrer FRTAT HITTT -

(a) BCUS AR (1) TS S

(b) AMHFH AR (ii) TS FRA
3 B2

(c) JAFERS ®Wes (i) T. BRI
oy

(d) forva & 9- (iv) &=Fet
AT &3
EARESEALS

5z

@ () (© (@
(A) (1) (1) (i) (iv)
®) @) (i) @Gv) ()
© (i) @) (i) (1)
(D) (i) (Gv) (1) (i)

TeAifere STareaRomat (= — 1) &t 3ot
SUgeRT = (g — 1) & @y e

FIT AR A ST F T T IR A
TIT ST
-1 R - 11
(a) oNf~T T (1) TR,
FHEAT TAMHATT 3R
T = ST |
(b) A sAT  (ii) AR FETH
T H HITHh B
SYFIT |
(c) Wt fAfFa  (iii) FeIm=T R
HEAT ElRRISECEED
AT |
(d) SN 3=== (i) HET T AefieRor
3R qREHTI |
%2

@ () (© (@
(A) (i) (@) (i) (iv)
®B) (i) (1) @Gv) ()
© @ (i) (i) (iv)
(D) (iv) (i) (1) ()

39.

40.

et — [ 3R gt — 11 ¥ fu frwreet &
HIGHTT T 1 39k qeh-Tehl AT &
o foer= shifse

g -1
(a) gt

(b) A

et -10

() ¥ T WHT-2Z-
TWHE fadger

(i) T I
STeARes A

(iii) T T TWHF-ZT-TIR
[ERIEC

(iv) Ufe-ek Taaree

(c) B

(d) T
F:
@ (b (© (@
(A) () (i) (i) (iv)
®) (i) (i) @) (1)
(© (i) 1) @Gv) (@)
(D) (v) (i) () ()

gar — [ 3R gt — 11 H f=ifeha aiaent

T ITeh! JRThT o AT THEAM hiteTT
-1 T -11

(a) T g&e (i) AR

(b) FAIEAET (ii) St FAUE
g TR

(c) ST FHReieR (i) iR 3R
TUE =T
i)

(d) aTs. T (iv) o
T

!

@ () (© (@
A @ @G (3G (Gv)
®) () @) (>Gv) (i)
© @@ G@Gv) (i) (i)
(D) (i) (@Gv) (1) (i)



41.

42,

Match the following years with the
occurrence of events, given in Table
[&II:

Table — I Table — 11

(a) 1919 (i) End of First World
War

(b) 1918 (i) League of Nations

transfers all assets
to the U.N.O.

(c) 1946 (iii) Treaty of Versailles

(d) 1945 (iv) Establishment  of
U.N.O.

Codes :

(@ () (© (@
@A O @ @) @Gv)
B) (Gv) @) (1) @
© @ @) (Gv) (i)
D) G @O 3G Gv)

Match the books with their authors :

(a) The Rise and (i) Kenneth
Fall of the Waltz
great powers

(b) The Influence (i1) Paul
of Sea Power Kennedy

upon History
(c) Politics among (iii) Alfred T.

Nations Mahan

(d) Theory of (iv) Hans
International Morgenthau
Politics

Codes :

(@ (®) (© (@
@A @ @ @) @Gv)
B) ) @G Gv) @
©) @) aG) 3Gv) @
D) @ Gv) @G (i)

43.

44.

Match the following Conferences/
Agreements with their year of origin

given in Table I and II :
Table - 1 Table - I1

(a) Conference on (1) Stockholm
Security and Co- Accord
operation in 1986
Europe

(b) Panchsheel (i1) India &
Agreement China,

1993

(c) Agreement on (ii1) India &
Maintenance of China,
Peace and 1954
Tranquillity

along the Line of

Actual Control

(AMPT)

(d) Conference on
Disarmament in
Europe

Codes :

@ ® @© @
(A) () (@) (Gv) (i)
B) @Gv) @) ) @)
© @ @) (i) @Gv)
D) Gv) @) () @)

(iv) Helsinki
1975 Act

Match the following treaties with
their year of occurrence given in
Table 1 and II. Select the right
answer from the codes given below :

Table - I Table — 11

(a) Threshold Test (1) 1974
Ban Treaty

(b) Partial Test Ban  (ii) 1963
Treaty

(c) Peaceful Nuclear (iii) 1996
Explosion Treaty

(d) Comprehensive  (iv) 1976
Test Ban Treaty

Codes :

@@ () () (@
A) (1) (i) (Gv) (i)
B) ) @O @i @v)
© @® @) @v) (ii)
O ® @ @) @Gv)



41.

42,

et — 1 3R gl — 11 7 feu feifera ot
& T g & T & HA Hifsu
3R e 5T Fal ¥ T SR B wAT

HIfeT
g -1 g - 11
(a) 1919 (i) oo [avags & 3id
(b) 1918 (ii) T-TH FRI . UA. 3.
o FEE UGt
T EEITAROT
(iii) IRETE W
(iv) F.T. 3. St LT

(c) 1946
(d) 1945
F !
@ (b (© (@
A @ @G (3G (Gv)
B) (@v) (i) () ()
© @O (i) (@Gv) (i)
(D) (i) (@) (i) (1)

FFiTohe qRcTehl A1 STk oT@ehl o AT

T oY

(a) WIS
it 3%
TS Urerg

(b) TR
ATE Y ITe’
I Bl

(c) HifcAtes T (iii) 3ToThs 2.

(i) FY AT

(i) et et

J =

(d) &R A% (iv) &9 g
TIAIAA
LligIEED)

!

@ (b (© (@
A @ @G (i) (Gv)
®B) (i) (i) @Gv) ()
© i) () Gv) (1)
D) @) (v) (i) (i)

43.

44.

T - ek I # fu fmifeed

T/l T S 339 8 % oY
o G foeT &
et - 1 et - 11
(a) TWOHGRET (i) Weweed
TS eI R HHEIT 1986
T
(b) TerNeT IRl (i) WRA-TH,
1993
(c) THe 3 (iii) IR 3R =,
nfeag 3 1954
e T
Zifeatere! TetnT
T AT ATH
TR Fhglet
(TUmRaa)
(d) I H (iv) FaArG=r 1975
1 W At
T

E
(@) (b) (o) (d)
(A) (1) (i) (v) (i)
(B) (v) (i) (1) (1)
© () (@1 (i) (1v)
(D) (v) () (i) (1)
e — 1 R 11 § fsu Fe=itera afFat st
3T °fed BM % o % W gl

H 3 A few o ¥ IR =
T H
et - 1 et - 11
(a) TwTEEET (i) 1974
TRreTor ey
gy
(b) 7ifereh Theror (i) 1963
[EECE:IE)
(c) Fmi=Tqor (iii) 1996
S IIEED
foremie af

(d) =R T (iv) 1976
oy wfg

ETE

(@) () () (d)
(A) (1) () (iv) (i)
(B) (1) (1) (i) (iv)
(© () (1) (iv) (i)
D) ) @G) (i) (iv)



45. Match the theories with their
) lives and force Japanese surrender
respective propounders :
and end the war. Hypothetically, it is

(a) Theory of Non- (i) Mao-Tse-Tung ) ) )
possible to argue that Hiroshima and
Alignment
Nagasaki would not have happened
(b) Theory of Air  (i1)) A.T. Mahan

Power if Japan had possessed similar

(c) Theory of Naval (iii) Jawahar Lal capability. Much greater destruction

Power Nehru and loss of life had occurred earlier
(d) Theory of (iv) Douhet during the fire bombing of Tokyo
Guerrilla and other Japanese cities by the
Warfare Allies. But use of the atom bomb as
Codes : the instrument of war termination
@ (b (© (@ also created the image of its being a

A @) G @) (1) powerful tool of military utility.
B) @) @Gi) @Gv) (@) However, it was clear from the
(©) i (v) ) @) beginning that its value actually
D) @Gv) @G @) (i) rested in its political power. This

political role was heightened beyond

Read the passage below and answer the capacity of any other single

the questions that follow based on instrument  of ~policy essentially

your understanding of the passage : because of the great destructive

(Qn. Nos. 46 to 50) capability of nuclear weapons. The

Cold War, and deployment of over

Conventional wisdom would 55,000 nuclear warheads at its peak

have as believe that the dropping of in a highly militarised confrontation

the atomic bomb on Hiroshima in of ideology, political goals and

1945 was meant to save American

foreign policy, reinforced the belief
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(d) BTHERFE  (iv) §&d
ygid =1 o

@':

@ () (© (@
(A) () (i) (i) (iv)
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(© (i) @Gv) (1) ()
(D) @v) () (@) (i)

frafafaa ui=sg ot ufeu X 3T e &
3MYR W A W 7T 497 T 3TN SASTT ¢ (W
AT 46 T 50)

YRUN fereieh o YR W &H T8l 91d &

Toh T 1945 H FeITmT W Uen a1 MRt

S T AR ST i SeH-GHa07 & o

e T g FHI A o foa TR o |
I AR W, I8 e (o 1 |ohell ¢ o6 AT

ST & U 3T YRR Sl GRATI] THAT et at

feRifeTT 3R AATTATRT St TeAT 7 gE el | Ty

TEet ITeRaT 3R ST o 31 ITedi R T i
H FHIR § AH-TTA T TqH 3 THaH
T3 o7 | i UeH a9 I, J§ T A
SUHT F FT H AN T T W W AE

SUINT & Hewdqul SUSHUT o ®9 H o @1 ST

T | BTATTh T8 WP § T o7 {oh SHe! Tod

STETe | SFR! TSI STferd | fRerd & | oRemy

ST ol Teie ToTRTeRRY &7 3 HRUT , TR
TR ST, A fraor & fedt v FRE
N THAT | T I TS € | 9T I 3R Feramem,
IR e 3R forer Hfifq & 3= d=iga
ZHE o Rt | 55,000 TRETO] Thiswh T
1 I W R A G 3 faears i g Hen
o wRmTY] BT S ket TSifae SR

£ 139 T 7 fved ®0 9 ST 9 U

H forgary demn ¢ fo v o G9reH R 3%



48. Nuclear weapon is essentially an
that nuclear weapons played a powerful instrument of national policy

military role. The fact that the weapons (A) Because of the  great

had to be handled and deployed by destructive capability

military forces certainly added to the belief (B) Because of the political goals
and ideology

in their military utility in spite of the fact

(C) Because of the military utility

that very often nuclear warheads were

(D) None of the above
actually held, at least initially, by forces

which were not part of the classical

o . 49. The atomic bomb value actually
military formations.

rested in its

A) Milit
46. The dropping of the atomic bomb on (A) Military power

Hiroshima in 1945 was meant (B) Political power
(A) tosave American lives (C) Diplomatic power
(B) to force Japanese surrender (D) None of the above

(C) toend the war

(D) All the above 50. The main theme of the passage is

based on

(A) Nuclear weapon as an

47. Atomic bomb is a power tool of instrument of policy

(A) Military utility (B) Nuclear weapon as an

. e instrument of military power
(B) Political utility

) . (C) Nuclear weapon as an
(©) Diplomatic veility instrument of diplomacy

(D) Economic utility

(D) None of the above




' 48. 3MUIaE I AER: AL A H
AT A B B I TA HA & | I :
YRR &

IR 7 & T A S (TREEE) (A) ST ST &THAT & HROT |

3TRR, IT HH F Y, YH3NT H 3 Fcil o ool (B) USHIa® oedi Td fommunr &
F A § S TRoRE I T % R PRI |
N (C) O IUFITTAT o FHROT |
(D) 9IS | ¥ HIE & |
46. T 1945 ¥ feifern W ven a0 v
Eekl 49. TEH IH & od add § SHH HE
(A) 3R AN ! ST S | e 7 e 7
(B) SOl i ScH-gHIOT % ford (W et
N (B) TSI wIferT
(C) T wfer
(C) 75 T T |
(D) 39S | @ T &I

(D) Swer |l |

50. uR=ss @l g T e €

47. UH 5H e T STHT & (A) T 5 STHT & T H SR

RECRSC
(A) ¥ ST ,
(B) T % U & &Y H A0ITSh
(B) TSTHITdeR SUAHTAT 6 IE W |

(C) TSI (Feif) & TR & &9
H SUTTeeh I W |

(D) 3w | W HIE Tl |

(C) ToHfTeh SU=RTar

(D) 3TTeyeh SUAHTAT
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